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Please read the instructions carefully. You are allotted 5 minutes specifically for this purpose.
A. GENERAL :

1. This booklet consists of 60 questions.
2. Blank papers, clipboards, log tables, slide rules, calculators, cellular phones, and electronic gadgets in any form

are not allowed to be carried inside the examination hall.
3. The answer sheet, a machine–readable  Optical Mark Recognition (OMR), is provided separately.
4. Do not tamper with / mutilate the OMR or the Booklet.
5. Write Name and Address in capital letters on OMR sheet.
6. Submit the OMR Sheet back to Invigilator after examination before leaving the examination hall.
7. Previous year or Term exam’s percentage | grade | Marks scored in Maths and Science must be written at the

back of OMR Sheet

B. QUESTION PAPER FORMAT:
8. The question paper consists of 2 Parts.

(I)   Part - I : Mental Ability & Mathematics  (30 Questions)
(II)  Part - II : Physics , Chemistry & Biology  (30 Questions)

C. Marking Scheme :
9. For each question in Part   I and II you will be awarded 4 marks if you have darkened only the  bubble corresponding

to the correct answer and zero mark if no bubble is darkened. In all other cases where the answer marked is not
correct, minus one (–1) mark will be awarded.

IMPORTANT INSTRUCTIONS
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PART I
Directions : (1-3) Find the missing term(s):

1.

(a) 120 (b) 100 (c) 125 (d) 64
2. 6, 12, 7, 11, 8, 10, 9, ? [Difference series]

(a) 8 (b) 9 (c) 11 (d) 12
3. cab_a_c_bc_bc_b

(a) bcbba (b) bcbbc
(c) acaca (d) cbaaa

Directions : (4) Find the wrong term (s) :
4. DOU, EPV, FQW, GRX, HTY, ITZ

(a) FQW  (b) GRX (c) HTY (d) EPV
5. Find the figure from the options which

completes the pattern in fig. (X).

(a) (b)

(c) (d)

PART I
ãÊ×âáí ð (1-3) ¼èÃÈä ÖïKÒâáí ×íËíð

1.

(a) 120 (b) 100 (c) 125 (d) 64

2. 6, 12, 7, 11, 8, 10, 9, ? [ÁçÊä ÁçÊä ÙëÇäáí]
(a) 8 (b) 9 (c) 11 (d) 12

3. cab_a_c_bc_bc_b
(a) bcbba (b) bcbbc
(c) acaca (d) cbaaa

ãÊ×âáíð (4) ¼íÃçï ÍÊ ×íËíð

4. DOU, EPV, FQW, GRX, HTY, ITZ
(a) FQW   (b)GRX (c) HTY (d) EPV

5. áâ»öãÈ (X) Ñâï ÐâÈ Ìë ÍèÇô »ÓÈä áâ»öãÈ ãÕ»lÍíÑâïÉä
×íËí.

(a) (b)

(c) (d)

For Rough Work
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6. Find the missing number.

(a) 88 (b) 64 (c) 4 (d) 16
7. Select a figure from the options in which figure

(X) is embedded as one of its part.

(a) (b)

(c) (d)

8. How many triangles are there in the following
figure ?

(a) 11 (b) 16 (c) 14 (d) 7
9. Sanjay went 70 metres in the East before

turning to his right. He went 10 metres before
turning to his right again and went 10 metres
from this point. From here he went 90 metres
to the North. How far was he from the starting
point ?
(a) 80 metres (b) 100 metres
(c) 140 metres (d) 260 metres

6. ¼èÃÈä ÖïKÒâ  ×íËíð

(a) 88 (b) 64 (c) 4 (d) 16

7. ãÕ»lÍíÑâïÉä ¿í>Ö áâ»öãÈ ÍÖïÊ »Óí »ë Áë áâ»öãÈ (X) Ìí
ÀâÒâïã»È Ðâ½ ÍèÇô »Óë.

(a) (b)

(c) (d)

8. Ìä¿ëÌä áâ»öãÈÑâï »ëÃÔâ ãÝ»íÇí Àë¬

(a) 11 (b) 16 (c) 14 (d) 7

9. ÖïÁÒ 70 ÑäÃÓ ÍèÕô ãÊ×âÑâï ÁÈâ ÍÚëÔâï ÈëÌä ÁÑÇä ÏâÁçáë
ÕÛë Àë Èë 10 ÑäÃÓ ÁÈâï ÍÚëÔâï ÈëÌä ÁÑÇä ÏâÁçáë ÎÓäÉä
ÕÛë Àë áÌë áâ ãÏïÊçÉä 10 ÑäÃÓ ’Ò Àë áÚäïÒâÉä Èë 90
ÑäÃÓ é^âÓÑâï ’Ò Àë Èí ×#áâÈÌâ ãÏïÊçÉä Èë »ëÃÔí ÊèÓ Ú×ë¬

(a) 80 ÑäÃÓ (b) 100 ÑäÃÓ

(c) 140 ÑäÃÓ (d) 260 ÑäÃÓ

For Rough Work
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10. Choose the correct water image of the given
figure (X) from amongst the four alternatives.

(a) 1 (b) 2 (c) 3 (d) 4

11. The value of
   
   

0.25 0.25

0.10 0.15
5 125

256 256




 is

(a)
5
2

(b)
5
4

(c)
25
2

(d)
25
16

12. If the angles of a triangle are in the ratio 1 : 2 : 7
then which triangle is it?
(a) acute angled (b) obtuse angled
(c) right angled (d) right angled isoscles

13. Find the sum of

         
1 1 1 1 1 1 1 1 1 1 1
2 6 12 20 30 42 56 72 90 110 132

(a)
7
8 (b)

11
12 (c)

15
16 (d)

17
18

14.
13
48  is equal to

(a)

1
13 11
16




(b)

1
12 11

8




10. áâÍëÔâ áâ»öãÈ (X) ÑâÃë áâÍëÔâ ãÕ»lÍíÑâïÉä Öâ¿çï
ÍýãÈãÏïÏ ÍÖïÊ »Óí.

(a) 1 (b) 2 (c) 3 (d) 4

11.
   
   

0.25 0.25

0.10 0.15
5 125

256 256




Ìä ã»ïÑÈ

(a) 5
2

(b)
5
4

(c)
25
2

(d)
25
16

12. ãÝ»íÇÌâ ¼èÇâáíÌí ½çÇí^âÓ 1 : 2 : 7 ÚíÒ Èí áâ ãÝ»íÇ »Òí
Ú×ë¬

(a) Ô¾ç»íÇ (b) »âÃ»íÇ

(c) ½ç#»íÇ (d) ÖÑã]ÏâÁç »âÃ»íÇ

13. ÖÓÕâÛí ×íËíð

         
1 1 1 1 1 1 1 1 1 1 1
2 6 12 20 30 42 56 72 90 110 132

(a)
7
8 (b)

11
12 (c)

15
16 (d)

17
18

14.
13
48  .............................. Ìë ÖÑâÌ Àë.

(a)

1
13 11
16




(b)

1
12 11

8




MATHS

For Rough Work
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(c)

1
13 11 11

8





(d)

1
13 11 12

4





15. To make a certain sweet, the required ratio of
sugar to flour is 2 : 3. If 45 kg of flour is being
used, the required quantity of sugar is..........
(a) 40 kg (b) 25 kg (c) 30 kg (d) 10 kg

16 The sum of two rational numbers is – 3. If one of

the number is
–10
3

, the other number is___

(a)
11
3

(b)
–17
3

(c)
–1
3

(d)
1
3

17. What is 50% of a number whose 200% is 20?
(a) 5 (b) 10 (c) 15 (d) 20

18. If p and q are two even positive numbers such
that p – q = 120 and the sum of p and q are 720,
then the values of p and q respectively are ?
(a) 320, 400 (b) 300, 420
(c) 400, 320 (d) 420, 300

19. If   
3 x 5 11– 7x,
8

 then the value of x is

(a)
59
101

(b)
103
59

(c) – 2 (d) – 3

20. Simplify :

3 4 11 –33 1 5
2 5 5 10 2 3
              
     

(a)
–30
17

(b)
– 3
1 0

(c)
37
30

(d)
53
30

(c)

1
13 11 11

8





(d)

1
13 11 12

4





15. áë» ÑäÄâæ ÏÌâÕÕâ ÑâÃë ¼âïÅ áÌë ÔíÃÌí ½çÇí^âÓ 2 : 3
Àë. ’ë 45 kg ÔíÃÌí éÍÒí½ »ÓÕâÑâ ï áâÕë Èí
¼âïÅ..................’ëæáë.
(a) 40 kg (b) 25 kg (c) 30 kg (d) 10 kg

16. Ïë ÖïÑëÒ ÖïKÒâáíÌí ÖÓÕâÛí – 3 Àë. ’ë ÈëÑâïÉä áë» ÖïKÒâ
–10
3

ÚíÒ Èí Ïä‘ ÖïKÒâ...............

(a)
11
3

(b)
–17
3

(c)
–1
3

(d)
1
3

17. áë» ÖïKÒâ »ë ÁëÌâ 200% , 20 ÉâÒ Èí ÈëÌâ 50% »ëÃÔâ
ÉâÒ¬
(a) 5           (b) 10 (c) 15 (d) 20

18. ’ë p áÌë q Ïë ¾ÌÍèÇâôï» ÖïKÒâáí Àë »ë ÁëÉä p – q = 120
áÌë p áÌë q Ìí ÖÓÕâÛí 720 Èí p áÌë q Ìä áÌç»ýÑë
ã»ïÑÈí

(a) 320, 400 (b) 300, 420
(c) 400, 320 (d) 420, 300

19. ’ë   
3 x 5 11– 7x,
8

Èí x Ìä ã»ïÑÈ

(a)
59
101

(b)
103
59

(c) – 2 (d) – 3

20. ÖâÊçï#Í áâÍíð

3 4 11 –33 1 5
2 5 5 10 2 3
              
     

(a)
–30
17

(b)
– 3
1 0

(c)
37
30

(d)
53
30

For Rough Work
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21. If

32 2n 22 3 4
3 2 9

             
       

, the value of n is

(a)
–1
2

(b)
3
8

(c) – 5 (d) – 6

22. If
a
3

=
b
4

=
c
7

 , then
a b c
c
 

 is equal to

(a) 7 (b) 2 (c)
1
2

(d)
1
7

23. From the given figure, if x:y = 3:7, then the val-
ues of a and z are

A

C

B

D
x

a y
z

(a) a = 54°, z = 126° (b) z = 54°, a = 126°
(c) a = 64°, z = 126° (d) a = 54°, z = 132°

24. If x – 100 = 60° where x is an acute angle, then
the supplement of x is
(a) 110° (b) 120° (c) 130° (d) 140°

25. From the given figure if c = 28°, then the value of
(a + b + p + q) is

a

q
r
b c
p

(a) 302° (b) 306o (c) 304° (d) 308°

26. If 6 A = 10 B = 12 C = 360o, where

o1 3 2 1A +2 B+2 C +1 x = 360
2 4 5 2
    , then

the value of x is
(a) 102° (b) 105° (c) 106° (d) 104°

21. ’ë

32 2n 22 3 4
3 2 9

             
       

, Èí n Ìä ã»ïÑÈ

(a)
–1
2

(b)
3
8

(c) – 5 (d) – 6

22. ’ë
a
3

=
b
4

=
c
7

 , Èí
a b c
c
 

Ìë ÏÓâÏÓ ÉâÒ

(a) 7 (b) 2 (c)
1
2

(d)
1
7

23. áâÍëÔ áâ»èãÈ ÍÓÉä Áí x:y = 3:7, Èí  a áÌë z  Ìä
i»ÑÈ

A

C

B

D
x

a y
z

(a) a = 54°, z = 126° (b) z = 54°, a = 126°
(c) a = 64°, z = 126° (d) a = 54°, z = 132°

24. Áí x – 100 = 60° ÁÒâï  x áë Ô¾ç»íÇ Èí  x  Ìí ÍçÓ»»íÇ

(a) 110°     (b) 120° (c) 130°     (d) 140°

25. áâÍëÔä áâ»öãÈ ÍýÑâÇë ’ë c = 28°, Èí  (a + b + p + q) Ìä
ã»ïÑÈ

a

q
r
b c
p

(a) 302° (b) 306o (c) 304° (d) 308°

26. ’ë 6 A = 10 B = 12 C = 360o, ÁÒâï

o1 3 2 1A +2 B+2 C +1 x = 360
2 4 5 2
    , Èí x

Ìä ã»ïÑÈ

(a) 102° (b) 105° (c) 106° (d) 104°

For Rough Work
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27. If AB||CD||EF. Where l and m are
transversals, then the values of x and y
respectively are

A

m

y

138 0

O

P Q

52°

l

B

C

E
R x

z

D

F

(a) 148º, 128º (b) 128º, 138º
(c) 138º, 128º (d) 138º, 140º

28. If the side of the square is 14 cm, then the ratio of
the perimeters of circle and square respectively
are

A B

CD

(a) 11 : 14 (b) 11 : 15
(c) 14 :11 (d) 15 : 11

27. ’ë AB||CD||EF. ÁÒâï láÌë m ÀëãÊ»âáí Àë Èí x áÌë
y Ìä ã»ïÑÈ ×íËíð

A

m

y

138 0

O

P Q

52°

l

B

C

E
R x

z

D

F

(a) 148º, 128º (b) 128º, 138º
(c) 138º, 128º (d) 138º, 140º

28. ’ë ¿íÓÖÌä ÏâÁç 14 cm, Èí ÈëÌä ÍãÓÑäÈäÌí ½çÇí^âÓ

A B

CD

(a) 11 : 14 (b) 11 : 15
(c) 14 :11 (d) 15 : 11

For Rough Work
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For Rough Work

29. If BD = 20 cm, AQ = 12 cm and CP = 10 cm, then
the area of quadrilateral is

A

B

D

C
Q
P

(a) 200 cm2 (b) 220 cm2

(c) 240 cm2 (d)  210 cm2

30. If
7 9P
8 2
    
 

 ,
2 3Q
3 4
   where (P + Q) +

R = 0, then the value of R is

(a) 1 (b)
53
24
 (c)

24
53

(d) 0

29. ’ë BD = 20 cm, AQ = 12 cm áÌë CP = 10 cm, Èí
ÏãÚw»íÇÌçï ÜëÝÎÛ

A

B

D

C
Q
P

(a) 200 cm2 (b) 220 cm2

(c) 240 cm2 (d)  210 cm2

30. ’ë
7 9P
8 2
    
 

 ,
2 3Q
3 4
  ÁÒâï (P + Q) + R =

0, Èí R Ìä ã»ïÑÈ

(a) 1 (b)
53
24
 (c)

24
53

(d) 0
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PART II
1. If  Shruti completes 100 m distance in 8 sec

then calculate her speed?
(a) 30 m/s  (b) 12.5 m/s
(c) 25 m/s (d) 10 m/s

2. Weight is the measurement of the force of an
object due to _____ .
(a) Gravity (b) Sliding friction
(c) Fluid friction (d) Velocity

3. The  temperature  at  which  no  more  energy 
can  be  removed from matter is called _____ .
(a)  Absolute zero  (b) 0o C
(c) 32º F  (d)  32°C

4. During the formation of rain, when water
vapour changes back to liquid in the form of rain
drops
(a) Heat is absorbed (b) Heat is released
(c) Heat is first absorbed and then released
(d) There is no exchange of heat

5. Earthing is provided in buildings to protect it
from
(a) Lightning
(b) Leakage of electric current
(c) Cyclone (d) Thunderstorm

6. A ball placed on a table starts sliding down
when  the  table  is  tilted.  Which  is  the  force
that causes this motion? 
(a) Friction (b) Push by the  table
(c)  Rolling force
(d) Gravitational pull by earth

7. When we  use biomass  to  generate  electricity 
the  conversion  of  energy is  from  ____. 
(a) Chemical to electrical energy
(b) Kinetic to electrical energy
(c)  Nuclear to electrical energy
(d) Muscular to electrical energy

PART II
1. ÙçãÈ 100 ÑäÃÓ áïÈÓ 8 sec Ñâï ÍèÓçï »Óë Àë, Èí ÈëÇäÌä ÂÅÍ

½Çí.

(a) 30 m/s (b) 12.5 m/s
(c) 25 m/s (d) 10 m/s

2. ÍÊâÉô ÍÓ Ôâ½Èâ ÏÛ áë ÕÁÌÌçï ÑâÍÌ _____

(a) ½ýëÕäÃä (b) ÖÓ»Èçï ¾ØôÇ

(c) ÍýÕâÚä ¾ØôÇ (d) Õë½

3. ¨vÒÑâïÉä ÕËâÓë ÍÅÈä é’ô ÊçÓ ÉÈä ÌÉä, Èë ÈâÍÑâÌÌë
.................. »ÚëÕâÒ.

(a)  ãÌÓÍëÜ ×ènÒ (b) 0o C
(c) 32º F  (d)  32°C

4. ÕÓÖâÊ ÏÌÕâÌä Íýã»ýÒâ ÊÓmÒâÌ ÁÒâÓë ÍâÇäÌä ÏâwÍ
ÍýÕâÚäÑâï #ÍâïÈÓ ÍâÑë »ë Áë ÕÓÖâÊÌâ sÕ#ÍÑâï ÚíÒ tÒâÓë...

(a) éwÑâ ×íØâÒ Àë (b) éwÑâ Ñç»È ÉâÒ Àë

(c) ÍýÉÑ éwÑâ ×íØâÒ áÌë ÍÀä Ñç»È ÉâÒ

(d) éwÑâÌçï #ÍâïÈÓÇ ÉÈçï ÌÉä

5. æÑâÓÈÑâï áÉäôï½ áâÍÕâÉä, .............. Éä ÓÜÇ ÑÛë

(a) ÕäÁÛä

(b) ãÕYçÈ ÍýÕâÚÌçï ÂÑÇ

(c) ¿»ýÕâÈ (d) ÕâÕâÂíÅçï

6. ÁÒâÓë ÃëÏÔÌë áï»äÈ »ÓëÔ ÚíÒ tÒâÓë ÃëÏÔ ÍÓ Ñè»ëÔä ÍëÌ ËâÓÉä
Ìä¿ë ÈÓÎ áâÕë Àë Èí áâ Íý»âÓÌä ½ãÈ ÑâÃë »Òâ Íý»âÓÌçï ÏÛ
»âÓÇÐèÈ Àë¬ 

(a) ¾ØôÇ (b) ÃëÏÔ ]âÓâ Ôâ½Èí ÂÃ»í

(c)  ÓíãÔï½ ÏÛ

(d) ÍöTÕä ]âÓâ Ôâ½Èçï ½ç#tÕâ»ØôÇ ¼ëï¿âÇ

7. ÁÒâÓë ãÕYçÈ étÍnÌ »ÓÕâ áâÍÇë ÏâÒíÑâÖÌí éÍÒí½ »Óäáë
Àäáë tÒâÓë é’ôÌâ #ÍâïÈÓÇÌïïçï ............sÕ#Í ÁÕâÏÊâÓ Àë

(a) ÓâÖâÒãÇ»Éä ãÕYçÈ é’ô

(b) ½ãÈÉä ãÕYçÈ é’ô

(c)  »ën¨äÒ Éä ãÕYçÈ é’ô (d)  sÌâÒçÏ}Éä ãÕYçÈ é’ô

For Rough Work
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8. A thermometer which has upper and lower point
equal to 950 and 50 reads 590. What is the
temperature in celsius scale?
(a) 600 C (b) 500 C
(c) 400 C (d) 1000 C

9. In a long distance race, the athletes were
expected to take two rounds on a circular
track. An athlete completed one round of this
track of diameter 300 m in 60 s. If the a t h e t e
takes the same time for both the rounds, what is
his speed in the race?
(a) 15.7 m s-1 (b) 7.85 m s-1

(c) 31.4 m s-1 (d) 13.8 m s-1

10. When an object is released from some height then
which of the following is correct ?
(a) Kinetic energy increases, Potential energy
increases
(b) Kinetic energy increases, Potential energy
decreases
(c) Kinetic energy decreases, Potential energy
increases
(d) Kinetic energy decreases, Potential energy
decreases

11. Iron rusts because:
(a) Iron is unstable
(b) It is an intrinsic property of iron to rust
(c) Iron reacts with the moisture present  in the
atmosphere
(d) Iron metal is weak

12. Pooja took a candle in a vessel and heated the
vessel. Even though the candle did not burn,
it changed its shape and state. What kind of
change is this?
(a) Neutralisation (b) Physical change
(c) Chemical change(d) None of these

8. áë» ÉÑíôÑäÃÓ »ë ÁëÌâ éc¿ÈÑ áÌë nÒèÌÈÑ 950 Ìë ÖÑâÌ Àë
áÌë 50 , 590 Õâï¿ë Àë, Èí ÖëãnÃ½ýëÅ ÑâÍ »ýÑÑâï ÈâÍÑâÌ ×çï Àë¬

(a) 600 C (b) 500 C

(c)  400 C (d) 1000 C

9. ÔâïÏâ áïÈÓÌä sÍËâôÑâï ÕÈçôÛâ»âÓ Ã÷ë»Ñâï áëTÔëÃzÖ Ïë ÓâénÅ Ôë
Àë, áëTÔëÃ ]âÓâ 300 ÑäÃÓ vÒâÖÌâ Ã÷ë»Ìí áë» ÓâénÅ ÍèÇô
»ÓÈâï 60 Öë»nÅ Ôâ½ë Àë, ’ë ÏïÌë ÓâénÅ ÍèÇô »ÓÕâ ÑâÃë áëTÔëÃÌë
ÖÑâÌ ÖÑÒ Ôâ½Èí ÚíÒ Èí ÓëÖÑâï ÈëÌä ÂÅÍ »ëÃÔä¬

(a) 15.7 m s-1 (b) 7.85 m s-1

(c) 31.4 m s-1 (d) 13.8 m s-1

10. ÁÒâÓë ÕsÈçÌë ÉíÅä éï¿âæáë Éä ÀíÅÕâÑâï áâÕë tÒâÓë
Ìä¿ëÌâÑâïÉä »Òçï ¼íÃçï Àë¬

(a) ½ãÈ é’ô ÕËë, áâïÈãÓ» é’ô ÕËë

(b) ½ãÈ é’ô ÕËë, áâïÈãÓ» é’ô ¾Ãë

(c) ½ãÈ é’ô ¾Ãë, áâïÈãÓ» é’ô ÕËë

(d) ½ãÈ é’ô ¾Ãë, áâïÈãÓ» é’ô ¾Ãë

11. Ôí¼ïÅÌë »âÃ Ôâ½ë Àë »âÓÇ»ë

(a) Ôí¼ïÅ ásÉâÒä Àë

(b) Ôí¼ïÅÌâ ÔâÜãÇ» ½çÇËÑôÌë ÔäËë »âÃ Ôâ½ë

(c) Ôí¼ïÅ ÕâÈâÕÓÇ ÓÚëÔâ ÐëÁ ÖâÉë Íýã»ýÒâ »Óë

(d) Ôí¼ïÅ ËâÈç ÌÏÛä Àë.

12. Íè’ áë áë» ÑäÇÏ^âäÌë ÍâÝÑâï Ñè»ä áÌë ÍâÝÌë ½ÓÑ »Óë Àë.
ÀÈâï ÑäÇÏ^âä ÖÛ½Èä ÌÉä ÈëÌä áÕsÉâ áÌë áâ»âÓ ÏÊÔâÒ
Àë. áâ »Òâ Íý»âÓÌä Íýã»ýÒâ Àë¬

(a) ÈÃsÉä»ÓÇ (b) ÐâìãÈ» Íýã»ýÒâ

(c) ÓâÖâÒãÇ» Íýã»ýÒâ (d) áë» ÍÇ ÌãÚ
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13. Why are acids always stored in glass containers
and not in metallic ones?
(a) Glass containers are transparent.
(b) Glass containers are cheaper.
(c) Metallic containers are not easily  available.
(d) Metal reacts with the acid stored in them.

14. The chemical formula of ice is:
(a) H2 (b) O2 (c) H2O (d) H2O2

15. Observe the figure and identify the substances
marked by (p), (q) and (r).

(p)                    (q) (r)

(a) Zinc      Water    Carbon dioxide
(b) Magnesium     Hydrochloric acid    Oxygen
(c) Magnesium     Water    Carbon dioxide
(d) Zinc       Hydrochloric acid     Hydrogen

16. Kanav took two test tubes marked as I and II. In
test tube I, he put calcium carbonate and
hydrochloric acid while in test tube II, he put
zinc granules and hydrochloric acid. He passed
the gas coming out from both the test tubes in
lime water. What are his observations?

(a) The gas coming out from test tube I turns lime
water milky.
(b) The gas coming out from test tube II turns
lime water milky.
(c) The gases coming out from both the test tubes
turn lime water milky.
(d) None of these

13. ×â ÑâÃë áëãÖÅÌë ÚÑë×â »â¿Ìâ ÍâÝÑâï Öï½ýÚ »ÓÕâÑâï áâÕë Àë
áÌë ËâÈçÌâ ÍâÝÑâï ÌÉä »ÓÕâÑâï áâÕÈâ.

(a) »â¿Ìâ ÍâÝí ÍâÓÊ×ô» Àë(b) »â¿Ìâ ÍâÝí ÖsÈâ Àë

(c) ËâÈçÌâ ÍâÝí ÖÚëÔâæÉä ÑÛÈâ ÌÉä

(d) ËâÈç áëãÖÅ ÖâÉë Íýã»ýÒâ »ÓÈâ áëãÖÅÑâï ËâÈç Öï½ýÚâÒ Àë.

14. ÏÓÎÌçï ÓâÖâÒãÇ» ÖèÝ

(a) H2 (b) O2 (c) H2O (d) H2O2

15. Ìä¿ëÌä áâ»öãÈÌçï áÕÔí»Ì »Óí áÌë  (p), (q) áÌë (r) ÕÅë
áï»äÈ »ÓëÔâ ×bÊíÌë áíÛ¼íð

(p)                    (q) (r)
(a) Âäï»      ÍâÇä »âÏôÌ ÅâÒí»ÖâæÅ

(b) ÑëgÌë×äÒÑ ÚâæÅ÷í»ÔíÓä» áëÖäÅ áí»ÖäÁÌ

(c) ÑëgÌë×äÒÑ    ÍâÇä                                »âÏôÌ ÅâÒí»ÖâæÅ

(d) Âäï»               ÚâæÅ÷í»ÔíÓä» áëÖäÅ     ÚâæÅ÷íÁÌ

16. »âÌÕ áë áïã»È »ÓëÔä Ïë »ÖÌÛäáí I áÌë II ÔäËä. »ÖÌÛä
I ÈëÇë »ëãl×ÒÑ »âÏíôÌëÃ ÔäËçï áÌë »ÖÌÛä II Ñâï ÚâæÅ÷í»ÔíÓä»
áëÖäÅ ÔäËçï. ÈëÇë Âäï»Ìâ ÊâÇâ áÌë ÚâæÅ÷í»ÔíÓä» áëÖäÅ ÔäËçï.
ÏïÌë ÃësÃ ÃÒçÏÑâïÉä ÏÚâÓ áâÕÈâ ÕâÒçÌë ÈëÇë ¿èÌâÌâ ÌäÈÒâô
ÍâÇäÑâïÉä ÍÖâÓ »Òôçï, Èí ÈëÌâ áÕÔí»Ìí ×ïç Ú×ë¬

(a) »ÖÌÛä I ÑâïÉä ÏÚâÓ áâÕÈí ÕâÒç ¿èÌâÌâ ÌäÈÒâô ÍâÇäÌë
ÊèãËÒçï ÏÌâÕë Àë

(b) »ÖÌÛä II ÑâïÉä ÏÚâÓ áâÕÈí ÕâÒç ¿èÌâÌâ ÌäÈÒâô
ÍâÇäÌë ÊèãËÒçï ÏÌâÕë Àë.

(c) ÏïÌë »ÖÌÛäÑâïÉä ÏÚâÓ áâÕÈí ÕâÒç ¿èÌâÌâ ÌäÈÒâô
ÍâÇäÌë ÊèãËÒçï ÏÌâÕë Àë.

(d) áë»ÍÇ ÌãÚ
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17. Acetic acid + Sodium hydrogen carbonate

  (i) + CH3COONa + H2O

(i) + Ca(OH)2   (ii) + Water

What could (i) and (ii) be?
(a) (i) CaCO3; (ii) CO2

(b) (i) H2O ; (ii) CaCO3

(c) (i) CO2 ; (ii) CaCO3

(d) (i) H2O ; (ii) CO2

18. Na2CO3 + 2HCl  ?
(a) NaCl + O2 + H2 (b) NaCl + O2

(c) NaCl + H2O (d)2NaCl + CO2 + H2O
19. Lime water is a solution of:

(a) Ca(OH)2 in water(b) CaCl2 in water
(c) NaOH in water (d) NaCl in water

20. Study the table carefully :
Which of the following are correctly matched ?
Sample                       Blue litmus        Red  litmus
                                     to red                   to blue

(i) Tamarind  Juice  ×

(ii) Sugar syrup                 × 

(iii) Lime water                  × 

(iv) Soap solutiion  ×

(a) (i) & (iii) (b) (ii) & (iv)
(c) (i), (ii) & (iii) (d) (i), (iii) & (iv)

21. A molecule with the chemical formula C6H12O6
is probably a
(a) Carbohydrate. (b) Lipid.
(c) Protein (d) A and B only.

17. áëãÖãÃ» áëãÖÅ + ÖíãÅÒÑ ÚâæÅ÷íÁÌ »âÏíôÌëÃ 
(i)  + CH3COONa + H2O

(i) + Ca(OH)2   (ii) + ÍâÇä

(i) áÌë (ii) ×çï ÚíÒ¬

(a) (i) CaCO3; (ii) CO2

(b) (i) H2O ; (ii) CaCO3

(c) (i) CO2 ; (ii) CaCO3

(d) (i) H2O ; (ii) CO2

18. Na2CO3 + 2HCl  ?
(a) NaCl + O2 + H2 (b) NaCl + O2

(c) NaCl + H2O (d)2NaCl + CO2 + H2O

19. ¿èÌâÌçï ÌäÈÒöèï ÍâÇä ̈ âÕÇ Àë......

(a) Ca(OH)2 ÍâÇäÑâï (b) CaCl2 ÍâÇäÑâï

(c) NaOH ÍâÇäÑâï (d) NaCl ÍâÇäÑâï

20. Ìä¿ëÌâ »íwÃ»Ìí »âÛ‘ÍèÕô» áBÒâÖ »Óíð

Ìä¿ëÌâÑâïÉä »Òïç ÏïËÏëÖÈçï Àë¬

ÌÑèÌí ÐèÓâ ÔäÃÑÖ                   ÔâÔ ÔäÃÑÖ
Éä ÔâÔ Éä ÐèÓçï

(i) áâÑÔäÌí ÓÖ     ×

(ii) ¼âïÅÌä ¿âÖÇä               × 

(iii) ¿èÌâÌçï ÌäÈÒçôï ÍâÇä        × 

(iv) ÖâÏç ¨âÕÇ     ×

(a) (i) áÌë (iii) (b) (ii) áÌë  (iv)

(c) (i), (ii) áÌë (iii) (d) (i), (iii) áÌë (iv)

21. áë» áÇç »ë ÁëÌçï ÓâÖâÒãÇ» ÖèÝ C6H12O6 Àë Èë ÖïÐÕÈ

(a) »âÏíôÚâæÅ÷ëÃ (b) ¿ÓÏä

(c) ÍýíÃäÌ (d) A áÌë B Î»È
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22. The ducts of liver and pancreas unite into a
common duct and open into
(a) Ileum (b) Caecum
(c) Colon (d) Duodenum

23. An animal that migrates a great distance would
obtain the greatest benefit from storing its energy
as
(a) protein (b) Carbohydrate
(c) Fat (d) Amino acid

24. To leave the digestive tract, a substance must
cross a cell membrane. During which stage of
food processing does this takes place ?
(a) Ingestion (b) Digestion
(c) Absorption (d) Elimination

25. The blood level of which gas is most important
in controlling human respiratory rate ?
(a) Nitric acid (b) Nitrogen
(c) Oxygen (d) Carbon dioxide

26. Where does the bird with the foot shown below
most likely live? 

(a) Open desert (b) Near water
(c) Deep woods (d) High mountains

27. The bones of the skull are interlocked with each
other by their senate margins called
(a) Synovial membrane
(b) Cartilages
(c) Sutures
(d) Tendons

22. ÁÄÓ áÌë sÕâÊçãÍïÅÌä ½ýïãÉáí áë»ÉæÌë ÖâÑânÒ ½ýïãÉ ÏÌë Àë
áÌë .............. Ñâï ¼çÔë Àë.

(a) æÔÑ

(b) áïËâÝ »ë ÑíÃâ áâïÈÓÅâÌí ×#Ìí Ðâ½

(c) ÑíÃçï áâïÈÓÅçï

(d) ÌâÌâ áâïÈÓÅâÌí éÍÓÌí 12 æï¿ ÁëÃÔí Ðâ½

23. áë» Í×ç ÕËç áïÈÓ ¼Öë Àë tÒâÓë ÈëÑâïÉä Öï½ýÚâÒëÔä é’ôÌí Èë
ÑÚ^âÑ ÔâÐ éÄâÕë Àë, Èë é’ô ×çï Àë¬

(a) ÍýíÃäÌ (b) »âÏíôÚâæÅ÷ëÃ

(c) ¿ÓÏä (d) áëÑäÌí áëãÖÅ

24. áë» ÍÊâÉô Íâ¿ÌÌâ Ñâ½ôÌë ÀíÅäÌë »íØ ãÊÕâÔÑâïÉä ÍÖâÓ ÉâÒ
Àë. ¼íÓâ» ÏÌâÕÕâÌä áâ Íýã»ýÒâ ÊÓmÒâÌ Èë »Òâï sÉâÌ Ôë Àë¬

(a) ¼íÓâ» ÔëÕâÌä ã»ýÒâ (b) Íâ¿Ì

(c) ×íØÇ (d) ÊèÓ ÉÕâÉä

25. »Òâ ÕâÒçÌçï Ó»ÈsÈÓ ÑâÌÕWÕÖÌÌâ ÊÓÌë ãÌÒïÝäÈ »ÓÕâ ÑâÃë
ÑÚtÕÍèÇô Àë ð

(a) ÌâæÃ÷ä» áëãÖÅ (b) ÌâæÃ÷íÁÌ

(c) áíã»ÖÁÌ (d) »âÏôÌ ÅâÒí»ÖâæÅ

26. ÍÜä ÍíÈâÌâ Í½ ÖâÉë Ìä¿ë ÏÈâvÒâ ÑçÁÏ ÑÚÊáï×ë »Òâï ÓÚë
Àë¬

(a) ¼çlÔâ  ÓÇ (b) ÍâÇäÌä Ì‘»

(c) éïÅâ Ôâ»ÅâÑâï (d) éï¿â ÍÕôÈíÑâï

27. ¼íÍÓäÌâ ÚâÅ»â ÈëÑÌâ ÖëÌëÃ áïÈÓÉä áë»Ïä’ ÖâÉë ÏïËâÒëÔâ
ÚíÒ ÈëÌë...................»ÚëÕâÒ

(a) ãÖÌíãÕáÔ ÍÅÊí (b) »âÃäôÔë‘Ö

(c) ÖèÝí (d) sÌâÒçÏïË
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28. Amylases in saliva begin the breakdown of
carbohydrates into
(a) Fatty acids (b) Polypeptides
(c) Amino acids (d) Simple sugar

29. Which of the following has no enzyme?
(a) Bile (b) Pancreatic juice
(c) Gastric juice (d) All of the above

30. A group of students of class 7 were performing
an experiment. Among them a student poured
alcohol on a plant continuously for a long time.
The plant could not prepare food on its own any
more.
Which of the following statements explains the
reason behind it?
(a) Alcohol absorbed all the food prepared by the
plant.
(b) Alcohol does not let the plant absorb carbon
dioxide from the air.
(c) Alcohol dissolved all the minerals present in
the plant.
(d) Alcohol dissolved the chlorophyll present in
the plant.

28. ÔâÛÑâï ÓÚëÔâ áëÑâæÔëÂ »âÏíôÚâæÅ÷ëÃÌçï #ÍâïÈÓ ×ëÑâï »Óë Àë¬

(a) ÎëÃä áëãÖÅ (b) ÍíÔäÍëpÃâæÅ

(c) áëÑäÌí áëãÖÅ (d) ÖâÊä ×»ôÓâ

29. Ìä¿ëÌâÑâïÉä »íÇ étÖë¿»Ìçï éÊâÚÓÇ ÌÉä¬

(a) ÍäÈ (b) sÕâÊçãÍïÅÌí ÓÖ

(c) ÕâÒçÑÒ ÓÖ (d) éÍÓÌâ ÏËâÁ

30. ËíÓÇ-7 Ìâ Õ½ôÌâ ãÕYâÉäôáíÌí ÖÑèÚ áë» ÍýÒí½ »ÓÈâ ÚÈâ.
ÈëÑâïÉä áë» ãÕYâÉäô ÔâïÏâ ÖÑÒ ÑâÃë ÀíÅÌë ÖÈÈ áâl»íÚíÔÑâï
ÅçÏâÅä Óâ¼ë Àë, ÀíÅ ÍíÈâÌä ’Èë ÍíÈâÌí ¼íÓâ» ÏÌâÕä ×»Èí
ÌÉä. Èí Ìä¿ëÌâ »Òâ ãÕËâÌí ÈëÌä ÍâÀÛÌâ »âÓÇí ÖÑ’Õë
Àë.

(a) áâl»íÚíÔ ÀíÅ ]âÓâ ÏÌâÕëÔí ÏËíÁ ¼íÓâ» ×íØä Ôë Àë

(b) ÀíÅ ]âÓâ ÚÕâÑâïÉä ×íØâÒëÔ »âÏôÌ ÅâÒí»ÖâæÅ
áâl»íÚíÔ Ôæ ×»Èí ÌÉä

(c) ÀíÅÑâï ÚâÁÓ ÏËâ Á ¼ÌäÁ áâl»íÚíÔÑâï áí½Ûë Àë

(d) ÀíÅÑâï ÚâÁÓ »ÔíÓíÎäÔ áâl»íÚíÔÑâï áí½Ûë À
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